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PART A: Vocabulary

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes
the sentence. Then mark the correct choice on your answer sheet.

What is the formula for -——------- pounds into kilos?

1) compiling 2) converting 3) associating 4) assembling

The government tried to <w-—-- the book because of the information. it contained about the
security services.

1) pursue 2) sanction 3) suppress 4) undertake

The study ---—------ to show an increase in the incidence of breast cancer.

1) purports 2) contends 3) sustains 4) implements

The research indicates that 4 out of 10 passengers =——----- the law by not wearing their belts.
1) flout 2) submit 3) revenge 4) eliminate

You must be able to make all =——----—- plans in the event of enemy attacks.

1) restraint 2) anticipation 3) consequence 4) contingency

In the eyes of the law, these two offences are -————— each other.

1) on the verge of 2) on a par with 3) in view of 4) in the course of
In a number of developing countries, war has been an additional -—------- to progress.

1) mediation 2) supplement 3) impediment 4) retardation

The company is reported to have -- of nearly § 90,000.

1) ledgers 2) equations 3) insertions 4) liabilities

The effect of using so many harmful chemicals on the land could be considerable.
1) distorted 2) cumulative 3) diminishing 4) compensatory
They have saved up a lot of money, so they ean - afford to buy a bigger apartment.
1) equivocally 2) accessibly 3) analogously 4) presumably

PART B: Grammar

Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
best fits each'blank. Then mark the correct choice on your answer sheet.

The body needs many different nutrients. These are various substances (11) ---------- provide
energy and the materials for growth, body-building, and body maintenance. Every day millions of
cells in the body die and must be replaced by new ones.

(12) === foods contain all nutrients. So it is not just the quantity of food eaten that is
important, but also the variety. People who have enough (13} ---------- to them may still become ill
because they are eating tod much of one kind of food and not enough (14) ---------- :

To stay healthy, we need to eat a balanced diet. This means a diet containing the right
proportions of the main nutrients. Many foods (15) ---------- of these basic nutrients. A balanced
diet also-contains enough energy (in the form of food) to power the chemical reactions of living

1) necessary to 2)of necessity so as 3) 10-be necessary to. - 4) being necessity 5o as
1) Not all 2) Not each 3) Neither do all 4y Neither each

1) available food 2) food available 3) availability food 4) food availability

1) others 2) another 3) of another 4) of other

1) have mixture 2) have mixing 3) are a mixture 4) are mixing
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Part C. Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3).or (4). Then
“miark it on your answer sheet.

PASSAGE 1:

The wave-cut platform ,also called Abrasion Platform, is gently sloping rock ledge
that extends from the high-tide level at the steep-cliff base to below the low-tide level.
It develops as a result of wave abrasion; beaches protect the shore from abrasion and
therefore prevent the formation of platforms. A platform is broadened as waves erode
a notch at the base of the sea cliff, which causes overhanging rock to fall. As the sea
cliffs are attacked, weak rocks are quickly eroded, leaving the more resistant rocks as
protrusions. These irregularities may take the form of sea arches, sea stacks, or sea
caves,

Wave-cut platforms are dependent on rock structure and type. Solid, massive rock,
such as granite, is resistant to abrasion and may modify or even prevent platform
formation. In a few cases cliffs plunge down directly into deep water. This is usually
the result of recent faulting or volcanic activity. Plunging cliffs ‘are only slightly
affected by wave erosion; therefore, the formation of abrasion platforms is inhibited.

With a change in sea level, platforms may be submerged or raised, ending the
processes of formation. Raised platforms are referred to as marine terraces. These can
be used to calculate coastal uplift or the lowering of sea level through time,
particularly where intermediate stillstands of sea level have produced a series of
terraces along a coast.

What is the organization of the information in paragraph 17

1) A definition is followed by a process.description.

2) Physical properties of a sea phenomenon are described.

3) Factors contributing to the formation of sea eaves are meniioned in the order of importance.
4) The sea cave formatiomi§ eéxplained and then factors preventing such formation are mentioned.
After waves form a hole at the base of the sea cliff, ---—------- ;

1) a platform is formed

2) the overhanging rock collapses

3} a notch at the base of the sea eliff is eroded

4) the more resistant rocks are left behind as protrusions

All of the following are alluded to as irregularities EXCEPT —----—-- .

1) caves 2) stacks 3) arches 4) notches

It is stated that when the rock type is granite, wave-cut platforms ———-—-,
|) are less likely to form

2) augment abrasion

3) would become very massive

4) commonly plunge down directly into deep water

The word “inhibited” in line 13 is closest in meaning to --—---—- -.

1) distorted 2) decclerated 3) facilitated 4) impeded

According to the passage, coastal uplift or the lowering of sea level through time can be
measured --s—----—,

1) with.a change in sea level 2) when platforms are raised
3) where there are stillstands of sea level 4) through platforms pushed under water
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PASSAGE 2:

A veritable legion of evidence supports_the seafloor spreading hypothesis. Studies
conducted with thermal probes, for example, indicate that the heat flow. through
bottom sediments is generally comparable to that through the continents except over
the midocean ridges, where at some sites the heat flow measures three to four times
the normal value. The anomalously high values are considered to reflect the intrusion
of molten material near the crests of the ridges. Research has also revealed that the
ridge crests are characterized by anomalously low seismic-wave velocities, which can
be attributed to thermal expansion and microfracturing associated with the upwelling
magma.

Investigations of oceanic magnetic anomalies have further cormroborated the
seafloor spreading hypothesis. Such studies have shown that the strength of the
geomagnetic field is alternately anomalously high and low with increasing distance
away from the axis of the midocean ridge system. The anomalous features are nearly

symmetrically arranged on both sides of the axis and parallel the axis, creating bands
of parallel anomalies.

The evidence supporting the seafloor spreading hypothesis is --—----—.

1) meager 2) contradictory 3) substantial 4) still being gathered
The word “that” in line 3 refers to ——--—- -

1) bottom 2) heat flow 3) sediment 4) thermal probe

Which of the following is said to be the contributor to abnormally high values of heat?
1) The midocean ridges

2) Anomalously low seismic-wave velocities

3) The heat flow through bottom sediments

4) The intrusion of molten material near the crests of the ridges

The word “atiributed” in line 8 is closest in meaning to ---------- .

1) ascribed 2) converted 3) presumed 4) sacrificed
The passage states that studies pertaining to oceanic magnetic anomalies -—--——--
1) have opened up new horizons for research

2} give credence to the seafloor spreading hypothesis

3) have revealed facts casting doubts on the seafloor spreading hypothesis

4) indicate that one should always search for new evidence in support of already accepted axioms
The investigations referred to in paragraph 2 are in line with all of the following EXCEFPT

that —----nn-- !

1) the anomalous features parallel the axis

2) the strength of the geomagnetie ficld is not always high or low

3) the anomalous features arranged on both sides of the axis are almost similar in shape
4} the anomalous features paralleling the axis give rise to bands of parallel anomalies

PASSAGE 3:

Sea caves are formed in a cliff by wave action of an ocean or lake. Sea caves occur on
almost every cliffed headland or coast where the waves break directly on a rock cliff
and are formed by mechanical erosion rather than the chemical solution process that is
responsible for the majority of inland caves. Zones of weakness in the cliff give way
under the force of the waves and are eroded out; these cavities are enlarged by the
hydraulic pressure built up by each wave. Holes, commonly known as blowholes,
may eventually be forced through the roof of the cave to.allow the pressure created by
each wave to be released as a jet of spray.
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28-  The passage answers all of the following questions EXCEPT “—eemmeeee "

1) What causes inland caves to form? 2) Where are sea caves likely to oceur?

3} Form where is a jet of spray released? 4) How do zones of weakness in a cliff appear?
29- - What causes “these cavities” mentioned in linc 5 to increase in Size?

1) Blowholes 2) Mechanieal erosion

3) Hydraulic pressure 4) Waves of abnormal strength

30- Which of the following rhetorical devices is the main device used to support the main point in

the passage?
1) Cause and effect 2) Funclion deseription
3) Process description 4) Comparison and contrast
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